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IMPLICIT FUNCTION
Implicit Function:- An equation f (x,y) = o defines y implicitly as a function
of x. The domain of that implicitly defined consists of those x for which
there is a unique y such that f (x , y)=o0

Question: Findﬂ

dx
1. Xzy—xy2+x2+y2 =0
Xz—xy+y2=3
Xy+x—2y—1=0
X3y+xy3=2
X+xy+y=2
X3—3xy+y3=1
X2—y2—x=1
X3+y3—6x2y=o
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5y+2x—y3—x2y=o
.2y+5x+x4—x3y2=0
.X2+4xy—16y2=27
Xe—dxy+y?=0
.3x2+7xy+9y2=6
P+ ) = (P -y’ =0
.X3+y3=3xy

X +y"=a"

XP+y —3x+4y+3=0
.X2y+3xy3—x=3
.X3y2—5x2y+x=1
l/y+1/z=1
X=x+y/X—y

22.Vx +.[y =8

23. J/xy +1=y
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24. (x* +3y")* = x

25. xyz/3 + yxz/3 = x*

26.3xy = (X* +y° )3‘/2

27. X’y = 5xy*+ 6 =0

28. X2/3—y2/3—y =1
29.Y2—x+1=0

30. ¥ —x+y’=1

31.xy=8

32. y2 + xzy =1

33.1-y/1+y=x

34. Y2+3xy+x2=4

35.3x°—4y* =7

36.X°y’—4=0

37. 2xy —y2 =

38. X°y* =5

39. x/y* =3yx

40. x*/\[y =0

41. X*\[y=0

42.Y*/x =5

43. xe’ =x

44, xy =e’

45, xy = e*

46. Cosx = e’

47. tan x = xe”’

48. Sin y = xe*

49. (2005)KB. x /1 +y +yv1+x =3
50. e*Iny = siny (2004 K.B. 97/96
51.V/x% +y* =in (xX* —y*) K.B.
52.2x° + 3xy + 7y — 2x +4y + 9 =0 K.B.(2002)
53. x ¥. y* =5 (2000) K.B.

54. e’lny = sin™ (xy) 1997/2004/1996







